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NEW IDEAS 

HERE IS AN ALARM CIRCUIT FOR YOUR 

car that uses only one IC and is rather easy 
to build. But it still has many desirable 
features, including entrance- imd exit­
delay times, an auto reset control, auto­
matic shutoff, and low power consump­
tion. The schematic of the alarm is shown 
in Fig . 1. 

First we'lllook at the two switches, S1 
and S2. Opening switch S 1, which is a 
normally-open door-mounted switch, 
activates the alarm after an 8-second de­
lay . However, if S2-a hidden switch 
inside the ear-is closed within that 8-
secohd delay time, the alarm will not be 
activated. That switch always takes prior­
ity over Sl. Whenever it is closed,. the 
alarm is off. Even when S2 is opened 
again, it still inhibits the alarm 
activation-but only for an additional 20 

Protecting your car 

seconds. (That delay is determined by the 
combination of R4 and C3.) That's 
enough time to get out of the car and close 
the doors. Switch S2 can be a momentary 
normally-open switch, but you may pre­
fer using a toggle switch. That way you 
can disable the alarm if you have to keep 
your car open for more than 20 seconds, 
such as when you are loading it with lug­
gage. 

Integrated circuit IC1 is a quad 2-input 
NAND Schmitt trigger. The output ofiC1-
c latches IC 1-b to a high output state once 
switch S 1 is opened. After that, only S2 
can stop the alarm oscillator, IC 1-d, from 
being triggered after the 8-second delay 
(determined by R9 and C6) . That drives 
transistors Q1 and Q:?, which switch the 
load (the coil of the hom relay, RY1) to 
ground . Thus the horn sounds in-
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termittently. The maximum current that 
transistor Q2 can sink safely is about one 
amp . 

After about 2 V2 minutes (controlled by 
the R7-C4 combination), which is called 
the alarm cycle time, IC1-b is unlatched 
when pin 6 goes high via C4. If S1 at that 
time is not open, pin 4 of ICl-b goes low 
and the alarm stops and is once again 
ready to receive triggering signals from 
S 1. If S 1 is still open, the alarm will 
continue to sound. Remember though, 
that S2 inhibits both the detection and 
activation of the alarm at any point of the 
cycle . 

I used RCA IC's when building my 
alarm. If you substitute those of another 
manufacturer, you may have to adjust the 
values of the timing resistors and capaci­
tors . Some experimentation may be re­
quired before everything works as it 
should.-Ronald Ham-Pong 

NEW IDEAS 

This column is devoted to new ideas, cir­
cuits, device applications, construction tech­
niques, helpful hints, etc. 

All published entries, upon publication, will 
earn $25. In addition, Panavise will donate 
their mode/333---The Rapid Assembly Circuit 
Board Holder, having a retail price of $39.95.1t 
features an eight-position rotating adjust­
ment, indexing at 45-degree increments, and 
six positive lock positions in the vertical plane, 
giving you a full ten-inch height adjustment for 
comfortable working. 

I agree to the above terms, and grant 
Radio-Electronics Magazine the right to 
publish my idea and to subsequently repub­
lish my idea in collections or compilations of 
reprints of similar articles. I declare that the 
attached idea is my own original material and 
that its publication does not violate any other 
copyright. I also declare that this material has 
not been previously published. 
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